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2O .

(E ')

2 3 2

2 2

2 CO 7 H 8e CH OO 2 H O E ' 0,3 V

O 4 H 4e 2 H O E ' 0,8 V

  

 

      

     

4,4 V?
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9

15



 



 



 

2 6C H O

2 6 2 4C H O(g) C H O(g) 2H (aq) 2e   

2 2
1

O (g) 2H (aq) 2e H O( )
2

   

H

H



 

2 4C H O H

2 4C H O

KI),

Enzimas
6 12 6(aq) 2(g) 2 ( ) 6 12 7(aq) 2 2(aq)C H O O H O C H O H O   

2 2(aq) (aq) 3(aq) 2 ( ) 2(g)2 H O 3 I I 2 H O O    

(NaOH)

(E )

E (V)

2 22 H O 2 e H 2 OH    0,83

2Co(OH) 2 e Co 2 OH    0,73

2Cu(OH) 2 e Cu 2 OH    0,22

2PbO H O 2 e Pb 2 OH     0,58

4A (OH) 3 e A 4 OH     2,33

2Fe(OH) 2 e Fe 2 OH    0,88

A



 

Co

2Cu(OH)

2Fe(OH)

Pb

2(g)H

2(g)O

2 ( )H O

(aq)OH

2
4(aq)Zn(OH) 

2 3 2(A O 3 H O),

1.000 C.

2CO ,

2 2 3Cu (OH) CO ,

2 3( Fe O )α 

(C) 3(CaCO ),

2.000 C.

200 C 700 C :

2 3 3 4 23 Fe O CO 2 Fe O CO  



 

3 2CaCO CaO CO 

3 4 2Fe O CO 3 FeO CO  

700 C 1.200 C :

2C CO 2 CO 

2FeO CO Fe CO  

1.200 C 2.000 C :

3(CaSiO )

22 C O 2 CO 

C.

CO.

2CO .

CaO.

3CaCO .

2C

2C

2 2
(s) (aq) (aq) (s)Zn / Zn // Cu / Cu , 

1,10 V,

3 3[Au(NO ) ].

2H 3NO

2N Au

Au 2O

Au 2NO

2O 2H
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